JBL Incorporated, 8500 Balboa Boulevard, P.O. Box 2200, Northridge, California 91329 U.S.A.

Technical Manual

JBL EON210P/230

JbL

SPECIFICATIONS

ACOUSTIC & ELECTRICAL SPECIFICATIONS:

System Power Rating:
Frequency Response:
Frequency Range:
Maximun Peak Output:
Input Impedance:

Ch1-4 Combo:
Ch1-4 Combo:

Ch 5-6:
Ch 5-6:
Ch 7-8:
Crossover Frequency:

SYSTEM COMPONENTS:

¢ Cabinet:

¢ Grille Assembly:

¢ Low Frequency
Transducer

* DC Resistance:

« High Frequency
Transducer

* DC Resistance:

300W (2 x 150 Stereo)

75 Hz — 19 kHz (+ 3 dB)

60Hz — 20kHz (-10 dB)

124dB peak system output (pink noise)

XLR 3k ohms Balanced
TRS 20k ohms Balanced

TRS 25k ohms Balanced
RCA 12k ohms Unbalanced
3.5mm 30k ohms Unbalanced
2 kHz

Enclosure (Not for Sale)
364866-001
328H 250mm (10 in) woofer

5.8 ohm + 10%

2414H-1 37.5mm (1.5 in) annudi
aphragm, neodymium compression
driver

3.60 ohm + 0.2%

PACKAGE

Outer Carton
445369-001

Filler, Top/Bottom (2)
445366-001

Inner Box
445708-001

Inner Box Sheet (2)
445367-001

Filler, Middle
445370-001

Storage Liner
445511-001

Insert (2)
365433-001

Speaker Cable Wire
445371-001

CORD, AC, LINE,
425-00000-00 (120)
425-00000-01 (230)

Warranty 59660

Users Guide
445709-001

SYSTEM COMPONENTS: (CONT'D)
¢ Crossover Network: 444944-001

AURAL SWEEP TEST SPECIFICATIONS:
A. System Aural Sweep Test: 3.5V Input, 70 Hz to 20 kHz
B. L.F. Aural Sweep Test: 10V Input, 20 Hz to 2 kHz
C. H.F. Aural Sweep Test: .75V Input, 500 Hz to 1.5 kHz

PHYSICAL SPECIFICATIONS:
» Shipping Package:

(HxW x D)
* Net Weight of System:

546 x 660 x 349 mm D
(21.5 x 26 x 13.75 in. D)

mixer, 14 Ibs. for unit with storage
pod)

WARRANTY INFORMATION:
« Refer to Warranty Statement packed with each product.

33 Ibs. (19 Ibs. for unit with powered

WIRING DIAGRAM

Driver, High Freq.
2414H-1
(363858-001X)

G

GRN/ BLK YEL/BLK

GRN

Driver, Low Freq.
328H
(443639-001)

Network Assembly
444944-001

Mixer/Amplifier
446130-001

1.6mF
1 0.3 ohm
0NN f——

NETWORK SCHEMATIC - 444944-001

0.2

e
T e ]
—
18uF t

1o0v T

Green 6 MOG wire 127

GreentBlack B MG wire 17"

I3 -
| | . —
- 8?2';[“ iz Tellor 1309 wire 18
100V ' é
|5 Tellow/3locklB 40 wire 1
T

04-11

®

by HARMAN

JBL EON210P/230 revs



JBL EON210P/230

COMPONENT EXPLODED VIEW

Rear Enclosure
EON210P/230

0€2/d0TZNO4 14dr

(Not Available for Sale)

Enclosure Handle

Gasket 444841-001

364835-001

Enclosure Screw (5)
445355-001

445364-001 M3.5x9

Dampening Material Self Tapping

Baffle

364865-001 Driver, High Freq.

2414H-1
363858-001X

Eon Support Pin (2)
445043-001

Latch Plate
-~ 445052-001
-
|| Washer
Grille Assembly\l\ 445384-001
364866-001 K | P
ogo Badge
EON Letters | Screw (2) 364863-001
365346-001 \L% 365270-002 5
M4-35MM ] Screw
f" | (baffle) t 445355-001
‘ |'“=-h Self Tapping
|

Driver, Low Freq

Thumbscrew (2)

Logo Badge ~ Screw (8) 328H 364983-001
Asgemblyg(Z) ﬁ/l64527605-001 443639-001 Network oot (4)
445177-001 (baf%(le) Screw (26) Assembly 364870-001
Screw 262,_54}%410_10 444944-001
X
9365001 PAN,PHH,HIGH- Screw (4)
Self Tapping LOBLKZINCLCS | Hi5355:001
5x9

Screw (4) Self Tapping

804-01110-12

10-32 x 3/4

FIL,PH,BLK

ZINC LCS




POWERED MIXER EXPLODED VIEW

0€<Z/d0TZNO4 14dr

Mixer / Amplifier Assembly
446130-001

MIXER PLATE ASSEMBLY EXPLODED - 445879-001 —

Screw (10)

445881-001

M3 x 6.5

Self Tapping
Knob (21)  push Button (5) Mix Plate to XLR
445045-001 445175-001

445880-001
M3 x
— 3.5MM
1” 4 Machine

h Mix Board
to Mix Plate

| |
[
/™. ; Mixer PCB Assembly
R 444840-001

Mixer Plate Asse.fnbly
444850-001

JBL EON210P/230

Screw (5) Mixer
445355-002 Release Mixer
M3.5 x 15 Button Release
Self Tapping 444844-001 Cover
444843-001
Screw (2) .
445362-001 Spring
M3 x5 445361-001
Flat Self Tapping 25.4MM
Latch Hook
445051-001 ._:_/ Foot, Right (2)
444847-001
1 ]
T
Logo Badge
364863-001
Mixer Enclosure
Bezel - (Not Available For
444846-002 Sale)
Amplifier
Assembly
445356-001
Er— Screw (10)
445362-002
M3 x 7
FLT Self Tapping
=
e )
Mixer Plate
Screw (12) 444850-001
365270-003 s ®
M4-12MM Crew
Foot, Left (2)
Baffle 445355-002
M35 x 15 445046-001
Output Jack (2)  Self Tapping
445363-001 Voltage
Selector AC Inlet
445360-001  Connector

365428-001




JBL EON210P/230

STORAGE POD EXPLODED VIEW

Mixer Release

Button
Storage Latch Hook 444844-001 Mixer Release
Bezel 445051-001 Cover
444846-001 444843-001

Mixer Foot, Right

P \ T = 444847-001
Screw (12) — || Logo Badge
20003 % 364863-001
M4-12MM o
(Baffle) ﬂ =
Storage Enclosure
(Not Available for Sale)
' =
S
1
Storage Cover |
L 445242-001 g ]L ' j/ Mixer Foot Left
| ) 445046-001
i — i

0€<Z/d0TZNO4 14dr




